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I LgdgbBeo. 2021-2022
(3336000 293m 3oL 603w3d0)
Question 1

Q3LOMEgm 2963 Egds: 30690530301 JoMOMo@ 53M(3565L Fo®mBmoygbls -

Select one:

a. bbgyarol gossa0egdol dglfogems

b. bbgmeol 3mdcsmdol dgbfogems

C. bbgwmaol 8¢gde®gmdol 35blsbmg®s LogMmgdo Mol bgdolidog® dmdgbEdo
d. Ubgoeol 2500530 gd0L blsbegms Mmol 63doLdog® dmdgbETo

Question 2
F9005603H05 0019 I3M0:
#608030 8dM5mdoL LoRJsGOL oo MGOL dsbdogrols HotBmgdmels
©OH®O”".
Select one:
True

False

Question 3

Mobgzom 36093690mdgdl dgmbsdsdgo LoEY309Mm0 slisbgugdqdo:

—5
1[.] ag(‘_‘)(ﬁo Answer 1| Choose...

—12
1[.] ag(‘_‘)(ﬁOAnswer 2| Choose...

—3
1[.] ag(‘_‘)(ﬁo Answer 3| Choose...

—i
1[.] ag(‘_‘)(ﬁo Answer 4| Choose...

—1
1[.] ag(‘_‘)(ﬁo Answer 5| Choose...

-0
10 63@)@0 Answer 6| Choose...

Led Lol Ll Lo Ll Led L

1[.]& d9BHMo Answer 7| Choose...
Question 4

3995053900 369630000 AMAMSMBOL OHML HgOEBHO0E oL Fsbsliosmgdgwro
fo®omo Loowygdo (5: Vs &r) 3mmby® LoEoE)HdL:

> Answer 1| Choose... =l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-9}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-12}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-3}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-6}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-1}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s,v,a_/tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
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Y Answer 2| Choose... =]

{1y Answer 3| Choose... j

Question b

395053900 3MOHOOMEO IMIMIMOOL ETIHILOSMGOJ BODO I
LoEOYIOL BHMSIGMM00L IMEdmE oMo do J0dsMNMEGdgdO:

2OISOHOIDS Answer 1| Choose... |
BoBJstg Answer 2| Choose... |
&9630630°@ M0 505 A (e\ver 3| Choose... -]
Bo®Bory®o sBdo®gds AL cwer 4| Choose... -]
Question 6

AsLomS 5@OEHOMOMBOL 30063030l Mobsbdo, MHMIgeos LMo
256356 3Hgds:

Select one:

a. bbgmamos LoLEgdob dsbs GHemenos dsbgdol xsdol

b. Lbgmms LobEgdol dsbs gE0s 3oE3gme bbgryems dsligdol xs3%9

C. bbgmmms LolEgdob dsbs GHmeos 3o3guer Bbgoems dsiigdol xsdols
d. bbgmaoms bobGgdol dsbs 653egd0s 3oe39me bbgumamms dslindol xsd%by

Question 7

13003600 LoOWY, HMmIgoa HoMdmowygbls LbgmMwol 0bgHEomEo s
3653035300 M30590900L BMIsls SGOU:

Select one:
a. LoBdoMy
b. dsbs

C. fmbs

d. dogs
Question 8

390 BMOINoOds FoMmdmoygbl boEmbols 30639 356mbL
(8mb086gm 2 3sLvbo):

Select one or more:

-

a a. O)‘C]F — U, E)D'ch)t’)lfy = const

b. m‘gF= 0, 8&"606‘1“7lé 0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_/tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{F}%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{V}%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{F}%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{a}/ne0

a C.mgF:U,abBOB@':U

o] Rel Rol Neo

7YY D

d.or);'j‘F‘3lé U, 35806 @ = ()

Question 9

QO 2obFsMEHGds: bgdoldogmo m®o M1 s M2 dsbol bbgremols
396399m 5OLYGOMOL 53O0 MO 450MgdMm, LosE M3l 0RgbL
d0D0EMEmdoL doergdol dmddggds. 53 do@ Moo 356M9aml ghmegds --

Select one:
a. 9@dOOYwo 3gwo
b. 9waddOmbGGe3gO0 ggwwo
C. 353boGwmo 39¢0
d. 9M930¢)930W0 390
Question 10
F9005603H05 0019 I3M0:
06050l bobbols dogrs ymzgammgols 3ods6mvenos dmd®omdol
Bofobosmdaam© s 0f393L bbgeol Bo®EMmdomo LoBdsol 89930M9dsL" .
Select one:
True

False

Question 11

dm 3990 BMOHIMEGI0ID, HMIgEo godmliobsgl Amxawrom
30b0@MdOL 356mBl (G 560l 36330353040 303, M - ©gsdoffols
Aolss)

Select one:ﬁ2
* 1~ i
b.t — Y R*
d.* — “R?
Question 12

3905 BoddszMOL GONGMEO (SI) 9ODJMS BogOHSTIMOOLM
LobEgdsdo?

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{F}%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{a}%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{F}/ne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{a}%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG/frac{R^2}{M}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG/frac{Mm}{R^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG/frac{R^2}{mM}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG/frac{M}{R^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={(SI)}
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d. X0

b. gs¢yo

C. 960

d. bom@mbo

€. obo

f. 0.%0

Question 13

F 35000l 8096 § 9500550300905%9 3gL6¥mangdeeo 8218500 gs8momgegds
RMOHINWOm

Select onf_:
a. _fl - 3

b dA = (F - d3)
c A=F.dv

4. A=Fg
Question 14

35396005 FoOEHowms LobEGgdol (39dsbozm®mo LolEgdol) gbgdA0s SO
LoLE 9oL (dmbBod6gm 2 35Lvbo):

Select one or more:
a. 9pMdsMgmdol BMbJEos
b. 8md®smdoL G3mEabmdM030 BMIs

C. 900a™3sMHgmdol Bemds

d. aobsffoegdol g3wbjzos

Question 15
3539605 M0 {gM ool 0d3bol dmdgbE ol
L=|FK
399mMBsmM3wger BMMOHIMESdo oA ; 09715053900 BoHBOZME
LOEO0YIOL OLObYEGdgdO:
K Answer 1/ e E
L Answer 2| oose- K
S e -]


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{F}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{s}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D/frac{F}{s}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA%3D(/vec{F}/cdot d/vec{s})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D{F}/cdot{dv}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{A}%3D{F}/vec{v}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec L%3D/left [/vec r/cdot/vec K/right ]
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec K
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec r
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Question 16
dgomo bbgmEolL 4505396000 IMIMIMIOL OML Lbgwwrols ygzgws

Dao@owob:

Select one:

a. LoBRdoMg s sBJotnds Lbgoslibgss
b. Lohgstg Lbgosolbgss

C. boBdotg s sBJogds gMmbsoMos
d. 5Bgdogds Lbgoolibgos

Question 17

®b930000 FMIGOMOOL EFobolosMIBGo LOoWOEYJd0s (dmbodbgm 3
3sLbo)

Select one or more:

a. 033wwbo

b. 3960000

C. 5930G¥Is

d. Lob3oty

€. dsbo

Question 18

®bgzoL 396omo T Emeos:
Select one:

_ 2n
a i

. )
b.T_E?T

T — wo

C. 2

d. T = 2mwy

Question 19

ym39e0 39600m©weo (HHG300) 3OHMEILOL J53MEIGdL LogmEgdo
396339990 LoBdsmoom ghimegds:

Select one:

a. GoSEs

b. 3md6Hsmds

C. ®bg3s


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D/frac{2/pi}{/omega_0}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D/frac{/omega_0}{2/pi}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D/frac{/omega_0}2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D2/pi/omega_0
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d. 990550Q09dS

Question 20
MO0 GICOS Mol 3m39M96Emmo, mv) (8mbodbgm 2 3sbvybo)

Select one or more:

Q

.« HOWOYB0 56 5MOL IMbMJOHMIsE o

o

. o930l LobToMg o6 sMHOL GHMEO

@]

+ GO0 dmbmdOHmds@aros s LobdoMggdo GHmeo

o

. HOGIOL BoBoms Bb3omds dMI0WIIN0s EOMDY

(0]

+ HOWgd0L BB BHZomds 56 M0l IMI0IOIYO EOHMDBY

Question 21
LMo 25635 FHJdS: 0©JIMMO 50600 9HMYds S0OL, GMIwol Jme93)Egdo
3obobogds, Hmam®E 6ogmogho Fgd@owgdo, Gmdgems dmMob MO0 Mm]dggds

Select one:

a. Y39I90JEYMBO0S, X bl dmdgb@ol 3sms
b. 806083se0w®os

C. 35JL00sEM0S, axsbgdOL ImIgbEOL FoMmS

d. 35gbodsE Mo

Question 22
0950B0go M 5Ll 0EYSYOHO 5000l IEYMISMYMOOL FobslosSMGdgeo 3
35653930l 9OHOMDIOMDS !

Select one:

a. P {6935, V 9m3wemmds, T sdbmea@meo ¢gd3g@e@meds
b. @ sBgstrgds, T sBbmewEmGo (gddghadrts, P §5ggs
C. V 9mi3mammds, P {693, a oBJotrndos

d. U LoBgstrg, @ sBdsrgds, P §bgg0

Question 23

QLM 2obFsMFHGds: 9ergdBHOMLESEH03MM0 3900 9hHmads
39w, OHMIgeoE ----- :

Select one:

a. 9943bognos 1dM530 9e9gd@®Io dMbEom


http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/vec{a}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/vec{a}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/vec{v}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/vec{a}}

C b. 56LgdmdL B3a60EHIHO OLIGOL A5GF9Im

i

BRSNS B

7Y YD

C. 9949bocnos dmdMs30 ge9dG®Eo dMbEom
d. 56LgdMAL 9eErgdBHOMo 6oL gsG39dm
Question 24
3980560305 0¢) 33oM0: "oBmEoMgdme Lob®gdsdo sdMbEHMwo
Bofoes3goo Ho0dmoddbgds fiyz0w-H9y30eo LOWOOM GHMWO S
LodoMob3oMm 60dbol IbEqgdom, 96 MmMo LadoMobdo®mm bodbol IbEo
093935 BgoBHMowmE boffows3zs obyg, Md®A LolEgdol LG FMbEHO 96
033gds. "
Select one:

True

False
Question 25
oLOMED 25630MHJOS: 396abmEMmgdo (2ob3oe39390w0) 353EIMOL

9099 BHOM3H9350Mds HOEbMdM0350 MOl gugd@Meo dMbEolb od
500bMdsL, HMIgeroi Mbos J03560Fmm 498EGHOL, GMI dobo ----- .

Select one:

a. 5350 Mds 9983060l

b. ©5350Mmmds 350BsMML

C. 969605 9903350ML gHmo JOMIMXOM

d. 3m@9baoswo 890335wmb 9Hm0 JOMIYOm

Question 26

@960l doems 9fimgds 3oBo3zMe Loowgl, HMIgmoE MHOEbmdMO35
AMWOS ----= 39300 J9J@GM™dOL MHoM©IbMdOL.

Select one:

a. §mgool 135680
b. @m0l gHmgmedo 4edEsmol gsbog339mdo

C. §Mgdo
d. 9995M0b 35603339080



Question 27

03039 {i69H0mBg 35650650 dmdemsgo bLbgmewols 39b@Molgzgbrmo sBdscmnds, mv ogo
9mAG5mdL V=338/(0 LoBds@om, R=2003. Gsombol §OHgfomdg. ( 39edo BsfigHgom
dbmwmo Gogbgo. dsy:1.2 ).

Answer:|

Question 28

03390 Lbgmbg dmddgo dsgrol dmdgb@o, o dslibg dmddgo
dss F=176, bmeom dogool dbsto 1=13. ( ggerdo Bsfg@go dboerm
®osbgo 99590l LobLBHom, dsy: 1.23 ).

Answer:|

Question 29

0MHAYI0 GowMs 3M39Yds X - 09Mdol ©s©Jd0mo J0ds6M0rgdOm.
Go©ol 356¢mqdsl 593l 99890 Lobg s=12cos(4047t-0.57x),
296L5BOZOIM BHo®ol Loa®dg (39wdo RsfigMgm Fbmemeo Mosbgo, 85y.
1.23):

Answer:|

Question 30

030390 JOGHMI060 0QJIMMO 50M0L 3H7d3gMeEMMs (39¢3069030),
0¥9 JobO osB9B0mMO FMIMHMOOL LoFSEm 30b9E03M0 9bgMyool
Loogs 450K, oo K s®ol dmen3dsbol 399dogs (39edo Bofigdgm
dbmemo Mogbgo, dsy. 1.23):

Answer:|

Question 31

P=153535¢0 {{6930L @O™L 5060l dmEyemds 10 9° -sb 15 -3y
290D5MS. 0339 S0MOL FoFBIMMNMPOSDY UM MEGdeo FMJomds. (
39380 BsfigMgm bmermo Gogbgo dgsmgool LobmbEom. dog: 1.2 ).

Answer:|

Question 32

396LsB3MI 9OMAZ9MMZ560 G 9JBHOMLEHGH0ZMNM0 390l OdIdIMDS, MV
390l doeiocmqdols gobfizmog mé fad@owl dmemol 3m@gbioswms bgsmdols
boowgs 0.07 3. §96GH0@gdL dmdol 356dogos 2 1A (3sLwgbo Rsfggom 39wdo, doy.
1,234).


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/pi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/pi

Answer:|

Question 33

06 3HY9eo 3bgbLsEHMEOOL BoMHBOEHJOL IOl dsbdogro 9935930609, 3-x9M, beaenm
3Mb6q9bLsGHMOOL BoMHBOEHJIOL BoMOMDO 453DMI0 23-%96, GOl 9IRS
30b@gbLsGHMMOL (39350Mds o0BsMIEs M-%gO. goblsbwzmgo M -ol 3608369wmds o
BofgMgo g39emdo (Top.1.23).

Answer:|



